Stage 3 *x
Mixed Selection 1 - Solution

. 12
1. Tangram Area 6
The parallelogram has base 6cm and height 3cm, so
the area is
6cm X 3cm = 18cm 6
"3 6

2. Triangles' triangle
The perimeter of the large triangle is 24cm, so it has side of
length 8cm, so each small triangle has side of length 1cm. So each
small triangle has perimeter 3cm.

Total length of black lines = Total perimeter of shaded triangles
= Nubmer of shaded triangles X 3 cm
= 27 X 3cm
= 81
3. L-emental
The perimeter of the shape is 4 X length, so the original rectangles
are 10 cm long.

There is insufficient information to be able to say anything about the
width - except that it is less than 10 cm.

4. Guillotine
Let AB and AD be of length b and h respectively. Then the area
of ABCD = bh and the area of ABQP = %b(§+ g) = %

Thus the required ratio is %

5. Margins
The area of the page inside the margins is 26cm X 36cm = 936cm?.

So the percentage of the page occupied by the margins is
X 100% = 22%.
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